# ON A GENERALIZATION OF A FORMULA OF SIERPINSKI

### Manfred Kühleitner

Institut für Mathematik, Universität für Bodenkultur, Gregor Mendel Straße 33, A-1180 Wien, Austria

Received: November 1997

MSC 1991: 11 N 37

Keywords: Divisor problem, asymmetric divisor problem, Dirichlet summatory function, asymptotic expansion.

Abstract: For fixed natural numbers  $1 \le a \le b$  we consider  $\rho_{a,b}(n)$  defined as the number of pairs  $(u,v) \in \mathbb{N} \times \mathbb{Z}, u > |v|$  with  $(u-v)^a(u+v)^b = n$ . We prove a formula analogous to that of Sierpinski for differences of two squares, and an  $\Omega_+$  result for the remainder term in the asymptotic formula for the corresponding Dirichlet summatory function.

### 1. Introduction

For fixed natural numbers  $1 \le a \le b$ , let

$$\rho_{a,b}(n) = \#\{(u,v) \in \mathbb{N} \times \mathbb{Z}, u > |v| : (u-v)^a (u+v)^b = n\} \qquad (n \in \mathbb{N}).$$

To study the average order of this arithmetic function, we consider the Dirichlet summatory function

$$(1.1) T_{a,b}(x) = \sum_{n \leq x} \rho_{a,b}(n),$$

where x is a large real variable.

For the case a = b = 1, the question for the asymptotic behaviour of  $T_{1,1}(x)$  is closely related to the classical divisor problem of Dirichlet, by the elementary formula, due to Sierpinski [11]

$$\rho_{1,1}(n)=d(n)-2d\left(\frac{n}{2}\right)+2d\left(\frac{n}{4}\right),$$

where d(n) denotes the divisor function with  $d(\cdot) = 0$  for non-integers.

For a historical survey on Dirichlet's divisor problem and the definition of the O- and the  $\Omega$ -symbols see the textbook of Krätzel [5]. At present, it is known that

(1.3) 
$$\sum_{n \leq x} d(n) = x \log x + (2\gamma - 1)x + \Delta(x),$$

where  $\gamma$  denotes the Euler-Mascheroni constant and

(1.4) 
$$\Delta(x) = O\Big(x^{23/73}(\log x)^{461/147}\Big),$$

due to Huxley [4].

Concerning lower estimates, it is known that

$$\Delta(x) =$$

(1.5) 
$$\Omega_+ \Big( (x \log x)^{1/4} (\log \log x)^{(3+2\log 2)/4} \exp\left( -B\sqrt{\log \log \log x} \right) \Big),$$

and

(1.6) 
$$\Delta(x) = \Omega_{-} \left( x^{1/4} \exp\left( c(\log\log x)^{1/4} (\log\log\log x)^{-3/4} \right) \right),$$

for some positive constants B and c, established by Hafner [2], and Corrádi and Kátai [1], respectively.

For the special case  $a=b=1,\ (1.2),\ (1.3),\ {\rm and}\ (1.4)$  together yield,

$$T_{1,1}(x) = rac{x}{2} \log x + (2\gamma - 1)rac{x}{2} + heta_{1,1}(x),$$

with

$$heta_{1,1} = \Delta(x) - 2\Delta\left(rac{x}{2}
ight) + 2\Delta\left(rac{x}{4}
ight),$$

and therefore by (1.4)

$$\theta_{1,1} = O\left(x^{23/73}(\log x)^{461/147}\right).$$

Concerning lower estimates, the author proved in [7], [8], on the basis of (1.2),  $\Omega$ - results for  $\theta_{1,1}(x)$  which are as sharp as (1.5), resp. (1.6).

We show, that for the general case  $(a, b) \neq (1, 1)$ , there exists a formula quite analogous to (1.2), which is closely related to the asymmetric divisor function

(1.7) 
$$d_{a,b}(n) = \sum_{u^a v^b = n} 1,$$

and to its corresponding Dirichlet summatory function

(1.8) 
$$\sum_{n \leq x} d_{a,b}(n) = \zeta\left(\frac{b}{a}\right) x^{1/a} + \zeta\left(\frac{a}{b}\right) x^{1/b} + \Delta_{a,b}(x).$$

The corresponding formula for the general case has the form

$$(1.9) \qquad \rho_{a,b}(n) = d_{a,b}(n) - d_{a,b}\left(\frac{n}{2^a}\right) - d_{a,b}\left(\frac{n}{2^b}\right) + 2d_{a,b}\left(\frac{n}{2^{a+b}}\right).$$

A thorough account on the history of the asymmetric divisor problem and a survey on results concerning upper estimates for the remainder term  $\Delta_{a,b}(x)$  is given in the textbook of Krätzel [5]. The today sharpest lower estimates were established by Hafner [3] and read

$$\Delta_{a,b}(x) = \Omega_{+} \Big( x^{\delta} (\log x)^{a\delta} (\log \log x)^{(2\log 2 - 1)a\delta + 1}$$

$$(1.10) \qquad \exp\left( -B\sqrt{\log \log \log x} \right) \Big),$$

$$\Delta_{a,b}(x) = \Omega_{-} \Big( x^{\delta} \exp\left( c(\log \log x)^{a\delta} (\log \log \log x)^{a\delta - 1} \right) \Big),$$

where B, c are positive constants and

$$\delta = \frac{1}{2(a+b)}.$$

The objective of the present paper, is an  $\Omega_+$ - result for the error term of (1.1), on the basis of (1.9), which is as sharp as (1.10). **Theorem.** For  $1 \le a \le b$  natural numbers, and  $\delta$  defined as in (1.11), we have

$$T_{a,b}(x) = rac{1}{2}\zeta\left(rac{b}{a}
ight)x^{1/a} + rac{1}{2}\zeta\left(rac{a}{b}
ight)x^{1/b} + heta_{a,b}(x),$$

with

$$\theta_{a,b}(x) = \Omega_+ \left( x^{\delta} (\log x)^{a\delta} (\log \log x)^{(2\log 2 - 1)a\delta + 1} \exp\left( -B\sqrt{\log \log \log x} \right) \right),$$

where B is a positive constant.

### 2. Some results

**Lemma 1.** Let  $d_{a,b}(n)$  as in (1.7). If  $2^{a+b}$  divides n we have

$$d_{a,b}(n) - d_{a,b}\left(\frac{n}{2^a}\right) - d_{a,b}\left(\frac{n}{2^b}\right) + d_{a,b}\left(\frac{n}{2^{a+b}}\right) = 0.$$

**Proof.** Write  $n = 2^{a+b+\alpha}u$ , with u odd. Then

$$\begin{split} d_{a,b}(2^{a+b+\alpha}) &= \sum_{u^a v^b = 2^{a+b+\alpha}} 1 = \\ &= \sum_{u^a v^b = 2^{a+b+\alpha}} 1 + \sum_{u^a v^b = 2^{a+b+\alpha}} 1 - \sum_{u^a v^b = 2^{a+b+\alpha} \atop 2|u} 1 = \\ &= \sum_{u^a v^b = 2^{b+\alpha}} 1 + \sum_{u^a v^b = 2^{a+\alpha}} 1 - \sum_{u^a v^b = 2^{\alpha}} 1 = \\ &= d_{a,b}(2^{b+\alpha}) + d_{a,b}(2^{a+\alpha}) - d_{a,b}(2^{\alpha}). \end{split}$$

The proof follows from the multiplicativity of  $d_{a,b}(\cdot)$ .  $\Diamond$  **Proposition 1** (Generalized Sierpinski identity). *Define* 

$$\rho_{a,b}(n) = \#\{(u,v) \in \mathbb{N} \times \mathbb{Z}, u > |v| : (u-v)^a (u+v)^b = n\},$$
then

(2.1) 
$$\rho_{a,b}(n) = d_{a,b}(n) - d_{a,b}\left(\frac{n}{2^a}\right) - d_{a,b}\left(\frac{n}{2^b}\right) + 2d_{a,b}\left(\frac{n}{2^{a+b}}\right),$$

where  $d_{a,b}(x) = 0$  for  $x \notin \mathbb{N}$ .

Proof. Let

$$X(n) = \{(x,y) \in \mathbb{N} \times \mathbb{Z}, x > |y| : (x-y)^a (x+y)^b = n\},$$
  
 $Y(n) = \{(u,v) \in \mathbb{N}^2 : u^a v^b = n\}.$ 

Obviously  $|X(n)| = \rho_{a,b}(n)$  and  $|Y(n)| = d_{a,b}(n)$ .

Case 1: n is odd.

$$(x,y) \in X(n) \leftrightarrow (u,v) = (x-y,x+y) \in Y(n)$$

defines a bijection between X(n) and Y(n). Therefore  $\rho_{a,b}(n) = d_{a,b}(n)$ . Case 2:  $2^{a+b}$  divides n.

$$(x,y)\in X(n) \leftrightarrow (u,v)=\left(rac{x-y}{2},rac{x+y}{2}
ight)\in Y\left(rac{n}{2^{a+b}}
ight)$$

defines a bijection between X(n) and  $Y(\frac{n}{2^{a+b}})$ ; therefore  $\rho_{a,b}(n) = d_{a,b}(\frac{n}{2^{a+b}})$  which equals the right-hand side of (2.1), by Lemma 1.

Case 3: n is even and  $n \not\equiv 0 \pmod{2^{a+b}}$ . In this case it is easily seen that both sides of (2.1) are zero.  $\Diamond$ 

Let a be as above. We say that n is a-full if for any prime q which divides n,  $q^a$  divides n too. For large positive real x we define A(x)

as the set of "a-full", positive numbers less than x. It is known that  $\# A(x) \ll x^{1/a}$  (see e.g. Krätzel [5], p. 276). We put

$$H(x) = \{n \in A(x) \mid w(n) \ge 2 \log \log x - B\sqrt{\log \log x}\},$$

where B is a positive constant and  $\omega(n)$  is the number of distinct prime divisors of n.

#### Lemma 2.

$$\#H(x) \ll x^{1/a} (\log x)^{1-2\log 2} \exp\left(B\log 2\sqrt{\log\log x}\right).$$

**Proof.** By the definition of H(x), we have

$$\#H(x)(\log x)^{2\log 2}\exp(-B\log 2\sqrt{\log\log x}) \le \sum_{n\in A(x)} 2^{w(n)}.$$

To determine the asymptotic behaviour of this last sum, define

$$f(n) = \begin{cases} 2^{\omega(n)} & \text{if n } a\text{-full,} \\ 0 & \text{else.} \end{cases}$$

Clearly f(n) is multiplicative. Consider the generating function

$$\sum_{n=1}^{\infty} \frac{f(n)}{n^s} = \prod_{p \text{ prime}} \left( 1 + \frac{2}{p^{as}} + \frac{2}{p^{(a+1)s}} + \dots \right) = \zeta^2(as)G(s),$$

where G(s) has a Dirichlet series absolutely convergent for Re  $s > \frac{1}{a+1}$ . By standard techniques Lemma 2 follows.  $\Diamond$ 

**Lemma 3.** For  $\delta$  defined as in (1.11), and for any integer m, we have

$$\sum_{\substack{n \leq x \\ (n,m)=1}} \frac{\tau_{a,b}(n)}{n^{1-\delta}} = K \prod_{\substack{q \mid m \\ q \text{ prime}}} \left(1 - \frac{1}{q}\right)^2 x^{\delta} \log x + O(x^{\delta})$$

where

(2.2) 
$$\tau_{a,b}(n) \stackrel{\text{def}}{=} \sum_{u^a v^b = n} u^{a-1} v^{b-1},$$

 $K = (ab\delta)^{-1}$  and the implied O-constant depends on a and b, but not on m.

**Proof.** Write

(2.2) 
$$\frac{\tau_{a,b}(n)}{n} = \lambda(n) \quad \text{with} \quad \lambda(n) = \sum_{u^a v^b = n} \frac{1}{uv}.$$

Since the generating function

$$\sum_{\substack{n=1\\(n,m)=1}}^{\infty} \frac{\lambda(n) n^{\delta}}{n^{s}} = \prod_{i=1}^{2} \sum_{d|m} \mu(d) d^{a_{i}(\delta-s)-1} \zeta(a_{i}(s-\delta)+1),$$

$$(a_{1} = a, a_{2} = b), \quad (\text{Re } s \geq \delta)$$

has a pole of order 2 at  $s = \delta$ , the result follows by standard techniques.  $\Diamond$ 

**Lemma 4.** For  $\lambda(n)$  as above,

$$\sum_{n \leq x} \lambda(n) \, n^{\delta}(w(n) - 2 \log \log x)^2 = O(x^{\delta} \log x \log \log x).$$

**Proof.** Let q and r denote prime numbers. First we observe that

$$\sum_{n \le x} \lambda(n) n^{\delta} w(n) = \sum_{n \le x} \lambda(n) n^{\delta} \sum_{q^{a}|n} 1 = \sum_{q^{a} \le x} \sum_{l \le \frac{x}{q^{a}}} \lambda(q^{a}l) q^{a\delta} l^{\delta} =$$

$$= \sum_{q^{a} \le x} \sum_{\alpha \ge 0} \lambda(q^{a+\alpha}) q^{(a+\alpha)\delta} \sum_{\substack{k \le \frac{x}{q^{a+\alpha}} \\ (k,q) = 1}} \lambda(k) k^{\delta} =$$

$$= \sum_{q^{a} \le x} \sum_{\alpha \ge 0} \lambda(q^{a+\alpha}) \left\{ K \left( 1 - \frac{1}{q} \right)^{2} x^{\delta} \log x + O(x) \right\} =$$

$$= 2 K x^{\delta} \log x \log \log x + O(x^{\delta} \log x).$$

(Use Lemma 3 and  $\sum_{\alpha \geq 0} \lambda(q^{a+\alpha}) = \frac{2}{q} + O(\frac{1}{q^2})$ .)

In the same way we conclude that

$$\sum_{n \le x} \lambda(n) n^{\delta} \omega(n) \omega(n) = \sum_{n \le x} \lambda(n) n^{\delta} \sum_{q^{a}, r^{a} \mid n} 1 =$$

$$= \sum_{q^{a} \le x} \sum_{r^{a} \le x} \sum_{n \le x} \lambda(n) n^{\delta} =$$

$$= \left\{ \sum_{\substack{q^{a}, r^{a} \le x \\ a \ne r}} + \sum_{\substack{q^{a}, r^{a} \le x \\ a \ne r}} \right\} \sum_{n \le x} \lambda(n) n^{\delta}.$$

Obviously,

$$\sum_{\substack{q^a, r^a \leq x \\ a = r}} \sum_{n \leq x} \lambda(n) \, n^{\delta} \ll x^{\delta} \log x \log \log x \,.$$

The main term is given by

$$\begin{split} &\sum_{\substack{q^a,r^a\leq x\\q\neq r}}\sum_{k\leq \frac{x}{q^ar^a}}\lambda(kq^ar^a)k^\delta q^{a\delta}r^{a\delta} = \\ &=\sum_{\substack{q^a,r^a\leq x\\q\neq r}}\sum_{\alpha\geq 0}\sum_{\beta\geq 0}\lambda(q^{a+\alpha})q^{(a+\alpha)\delta}\lambda(r^{a+\beta})r^{(a+\beta)\delta}\sum_{\substack{l\leq \frac{x}{q^{a+\alpha}r^{a+\beta}}\\(l,qr)=1}}\lambda(l)l^\delta = \\ &=\sum_{\substack{q^a,r^a\leq x\\q\neq r}}\sum_{\alpha\geq 0}\sum_{\beta\geq 0}\lambda(q^{a+\alpha})\lambda(r^{a+\beta})K\Big(\Big(1-\frac{1}{q}\Big)\Big(1-\frac{1}{r}\Big)\Big)^2x^\delta\log x + \\ &+O(x^\delta) = \\ &=Kx^\delta\log x\Big(\sum_{q^a\leq x}\sum_{\alpha\geq 0}\lambda(q^{a+\alpha})\Big)^2 + O(x^\delta\log x\log\log x) = \\ &=4Kx^\delta\log x(\log\log x)^2 + O(x^\delta\log x\log\log x) \;. \end{split}$$

From these two formulas Lemma 4 follows.  $\Diamond$  Lemma 5.

$$\sum_{\substack{n \notin H(x) \\ n \leq x}} \lambda(n) n^{\delta} \ll \frac{1}{A^2} x^{\delta} \log x.$$

**Proof.** This is an immediate consequence of Lemma 4.  $\Diamond$  Lemma 6.

$$\sum_{n \leq x} rac{ au_{a,b}(n)}{n^{1-\delta}} \Big(1 - \sqrt{rac{n}{x}}\Big) = rac{2}{3ab\delta} x^\delta \log x + O(x^\delta).$$

**Proof.** We use

$$\sum_{n \le x} \tau_{a,b}(n) = \frac{1}{ab} x \log x + O(x)$$

(see e.g. Krätzel [5], p. 211, Lemma 5.6) and partial summation.  $\Diamond$  Lemma 7 (Dirichlet's approximation principle). Let  $\underline{\alpha} = (\alpha_1, \ldots, \alpha_s) \in \mathbb{R}^s$ ,  $q \in \mathbb{N}$ ,  $t_0 \in \mathbb{R}^+$ , then there exists  $t \in \mathbb{R}$  with  $||t\underline{\alpha}|| < \frac{1}{q}$  and  $t_0 < t < t_0 q^s$ , where ||.|| denotes the distance from the nearest integer.

# 3. Proof of the theorem

We start from formulas (47), (48) of Krätzel [6], with a slight change of notation: For  $x \ge 0$ , we have

(3.1) 
$$\Delta_1(x) \stackrel{\text{def}}{=} \int_1^x \left( \Delta_{a,b}(t) - \frac{1}{4} \right) dt = \frac{1}{\pi^2} \sum_{n=1}^{\infty} \frac{\tau_{a,b}(n)}{n^2} F(nx),$$

where

(3.2) 
$$F(w) = w \rho_0(w) - \int_k^w \rho_0(u) \, du = O(w^{1-\delta}),$$

with

$$ho_0(u) = \int_0^\infty \sin 2\pi t^{1/b} \sin 2\pi (rac{x}{t})^{1/a} \, rac{dt}{t},$$

and

(3.3) 
$$\rho_0'(u) = c_1 \sin\left(2\pi c_2 u^{\frac{1}{a+b}} + \frac{\pi}{4}\right) + O\left(u^{-\delta-1}\right),$$

the asymptotic expansion in (3.3) taken from Nowak [9], formula (2.18). From (3.2), we see that the sum in (3.1) converges absolutely and uniformly on every compact set. By (3.2) and (3.3), F'(w) has the asymptotic expansion

(3.4) 
$$F'(w) = c_3 w^{\delta} \sin\left(2\pi c_2 w^{2\delta} + \frac{\pi}{4}\right) + O(w^{-\delta}),$$

where  $c_3, c_2$  are computable positive constants depending on a and b. From (2.1) and (3.1) it is easy to see that

(3.5) 
$$\theta_{1}(x) := \int_{1}^{x} (\theta_{a,b}(t) - \frac{1}{4}) dt$$

$$= \frac{1}{\pi^{2}} \sum_{n=1}^{\infty} \frac{\tau_{a,b}(n)}{n^{2}} \left\{ F(nx) - \frac{1}{2^{a}} F\left(\frac{n}{2^{a}}x\right) - 2^{b} F\left(\frac{n}{2^{b}}x\right) + 2^{a+b+1} F\left(\frac{n}{2^{a+b}}x\right) \right\}.$$

Let  $g \in C^1[a, b]$ . Multiply (3.5) by g'(t), integrate term by term, (the series being absolutely and uniformly convergent), integrate by parts each term and use (3.5) again with x = a, resp. x = b. This yields, (3.6)

$$\int_{a}^{b} g(t) \left( \theta_{a,b}(t) - \frac{1}{4} \right) dt = \frac{1}{\pi^{2}} \sum_{n=1}^{\infty} \frac{\tau_{a,b}(n)}{n} \int_{a}^{b} g(t) \left\{ F'(nx) - F'\left(\frac{n}{2^{a}}x\right) - F'\left(\frac{n}{2^{b}}x\right) + 2F'\left(\frac{n}{2^{a+b}}x\right) \right\}.$$

For large positive real x, we define

$$K(y) = rac{1}{2\pi} \Big(rac{\sinrac{y}{2}}{rac{y}{2}}\Big)^2 \quad ext{and} \quad K_x(y) = \lambda_x \, K(\lambda_x y),$$

with  $\lambda_x = 2\pi c_2 x^{2\delta}$ ,  $\delta$  defined as in (1.11). It is well known (cf. e.g. [10, p. 19]) that

$$\int_{-\infty}^{\infty} \mathrm{e}^{iay} \, K(y) \, dy = \left\{egin{array}{ll} 1-|a|, & |a| < 1 \ 0, & |a| \geq 1. \end{array}
ight.$$

By observing that  $K'_x(u) = O(u^{-2})$  for  $u \ge 1$ , (uniformly for x), and applying integration by parts, we conclude that

$$\int_{-1}^{1} e^{iau} K_x(u) du = \begin{cases} 1 - \frac{a}{\lambda_x} + O(\frac{1}{a}), & 0 < a \le \lambda_x \\ O(\frac{1}{a}), & \text{else} \end{cases}.$$

Then by a suitable choice of g(t), a, b in (3.4), and the substitutions  $t = u^2$  and  $u \to u + T$ , we get from (3.4) and (3.6)

$$J(T) := \pi^2 c_1 \int_{-1}^1 K_x(u) \frac{\theta_{a,b}(u+T)^{1/2\delta} - \frac{1}{4}}{(u+T)^{2\delta}} du =$$

$$= \sum_{n \le x} a_n \left( 1 - \frac{\lambda_n}{\lambda_x} \right) \sin\left(\lambda_n T + \frac{\pi}{4}\right) +$$

$$+ \sqrt{2} \sum_{n \le 2^{a+b}x} a_n \left( 1 - \frac{\mu_n}{\lambda_x} \right) \sin\left(\mu_n T + \frac{\pi}{4}\right) -$$

$$- \frac{1}{2^{a\delta}} \sum_{n \le 2^{a}x} a_n \left( 1 - \frac{\nu_n}{\lambda_x} \right) \sin\left(\nu_n T + \frac{\pi}{4}\right) -$$

$$- \frac{1}{2^{b\delta}} \sum_{n \le 2^{b}x} a_n \left( 1 - \frac{\eta_n}{\lambda_x} \right) \sin\left(\eta_n T + \frac{\pi}{4}\right) + O(1) ,$$

where  $\lambda_n = 2\pi c_2 n^{2\delta}$ ,  $\mu_n = \pi c_2 n^{2\delta}$ ,  $\nu_n = 2^{1-2a\delta} \pi c_2 n^{2\delta}$ ,  $\eta_n = 2^{1-2b\delta} c_2 n^{2\delta}$ , and  $a_n = \tau_{a,b}(n) n^{\delta-1}$  for short, throughout the rest of the paper and  $\delta$  defined as in (1.11).

We decompose this representation in order to apply Lemma 7, observing that  $\tau_{a,b}(n) = 0$  for n not a-full, and estimate the other sums trivially by  $-1 \le \sin(\cdot) \le 1$ , to get

$$J(T) \ge \sum_{n \in H(x)} a_n \left( 1 - \frac{\lambda_n}{\lambda_x} \right) \sin \left( \lambda_n T + \frac{\pi}{4} \right) +$$

$$+ \sqrt{2} \sum_{n \in H(2^{a+b}x)} a_n \left( 1 - \frac{\mu_n}{\lambda_x} \right) \sin \left( \mu_n T + \frac{\pi}{4} \right) -$$

$$- 2^{-a\delta} \sum_{n \le 2^a x} a_n \left( 1 - \frac{\nu_n}{\lambda_x} \right) - 2^{-b\delta} \sum_{n \le 2^b x} a_n \left( 1 - \frac{\eta_n}{\lambda_x} \right) -$$

$$- \sum_{\substack{n \notin H(x) \\ n \le x}} a_n \left( 1 - \frac{\lambda_n}{\lambda_x} \right) - \sum_{\substack{n \notin H(2^{a+b}x) \\ n \le 2^{a+b}x}} a_n \left( 1 - \frac{\mu_n}{\lambda_x} \right).$$

The contribution from the last two sums is

$$\ll \frac{1}{B^2} x^{\delta} \log x,$$

by Lemma 5 with B a parameter at our disposition, whereas the contributions of the third and fourth sum can be estimated by Lemma 6.

The key step is now the application of Dirichlet's approximation principle to the first and the second sum. We apply this principle to those terms in the sums which yield the main contribution. To this end let  $N_1 = \#H(x)$ , and  $N_2 = \#H(2^{a+b}x)$ . For any  $T_0 \geq 1$ , we apply Lemma 7 to  $\underline{\alpha} = (\lambda'_1, \dots, \lambda'_{N_1}, \mu'_1, \dots, \mu'_{N_2}) \in \mathbb{R}^{N_1+N_2}$  where  $\lambda_n = 2\pi c_2 n^{2\delta} = 2\pi \lambda'_n$  and  $\mu_n = \pi c_2 n^{2\delta} = 2\pi \mu'_n$ , to find a T in the interval

$$(3.7) T_0 < T < T_0 4^{q(N_1 + N_2)}$$

with  $\sin(\lambda_n T + \frac{\pi}{4}) \ge c > 0$  for all  $n \in H(x)$  and  $\sin(\mu_n T + \frac{\pi}{4}) \ge c$  for all  $n \in H(2^{a+b}x)$   $(c = \sin(\frac{\pi}{4}(1 - \frac{1}{a})))$ .

Therefore,

$$J(T) \ge \frac{2}{3ab\delta} \left(3c - 2 - \frac{3}{B^2}\right) x^{\delta} \log x$$
  
  $\ge Cx^{\delta} \log x$ 

by a suitable choice of q and B. By a short calculation we derive from (3.7)

$$\log T \ll \log T_0 + N_1 + N_2$$

and by Lemma 2

 $J(T) \gg (\log T)^{a\delta} (\log \log T)^{(2\log 2 - 1)a\delta + 1} \exp(-B \log 2\sqrt{\log \log \log T}).$ Since  $K_x(u)$  is positive and

$$0 < b_1 \le \int_{-1}^1 K_x(u) \, du \le 1$$

with an absolute constant b, uniformly in  $x \ge 1$ , we may conclude that there exists a value v with  $T-1 \le v \le T+1$  for which

$$\frac{\theta_{a,b}(u+T)^{1/2\delta}-\frac{1}{4}}{(u+T)^{2\delta}}\gg$$

$$\gg (\log v)^{a\delta} (\log \log v)^{(2\log 2-1)a\delta+1} \exp\left(-B\log 2\sqrt{\log \log \log v}\right).$$

Since  $v > T_0 - 1$ , and  $T_0$  can be chosen arbitrarily large, this completes the proof of the theorem.  $\Diamond$ 

## References

- [1] CORRÁDI, K. and KÁTAI, I.: Egy megjegyzés K.S. Gangadharan, "Two classical lattice point problems" című dolgozatához, MTA III Osztály Közleményei 17 (1967), 89–97.
- [2] HAFNER, J.L.: New omega theorems for two classical lattice point problems, Invent. Math. 63 (1981), 181–186.
- [3] HAFNER, J.L.: New omega theorems in a weighted divisor problem, J. Number Theory 28 (1988), 240-257.
- [4] HUXLEY, M.N.: Exponential sums and lattice points II, Proc. London Math. Soc. (3) 66 (1993), 279-301.
- [5] Krätzel, E.: Lattice Points, Berlin, 1988.
- [6] Krätzel, E.: Ein Teilerproblem, J. Reine Angew. Math. 235 (1969), 150-174.
- [7] Kühleitner, M.: An omega theorem on differences of two squares, *Acta Math. Univ. Comenianae* **61**/1 (1992), 117–123.
- [8] Kühleitner, M.: An omega theorem on differences of two squares II, to appear.
- [9] NOWAK, W.G.: A two-sided omega-theorem for an asymmetric divisor problem, *Manuscripta Math.* **69** (1990), 153–172.
- [10] OBERHETTINGER, F.: Tabellen zur Fourier Transformation, Springer, Berlin 1957.
- [11] SIERPINSKI, W.: Über die Darstellungen ganzer Zahlen als Differenz von zwei Quadraten, Wiadom. Mat. 11 (1907), 89-110.